N = 0l & At & M A

017UE 27 13 SHSHLABSPABSHH M
SN BZRSD
M AGteE 4Zpe oD E
Sel: A4RBSTY Pel(SHSHLATSIADSEIA) (el @ e)
SA-EHB - BAEH) - NRAY - BES 0l & o p/E-F HIDE2
#RE5 5,735,371 4,439,203 1,296, 168
= 117,936 117,936 0
2 5,617,435 4,321,267 1,296, 168
Mot4E aFpel AEet 7S 5,671,045 4,374,877 1,296, 168
< 117,936 117,936 0
2 5,553, 109 4,256,941 1,296, 168
NAAPERA B (SFEALABE R BRSES 5,671,045 4,374,877 1,296, 168
)
< 117,936 117,936 0
2 5,553,109 4,256,941 1,296, 168
S35 NEHY 836,110 906,425 AT70,315
401 Al HI L 2 T 744,410 814,725 AT70,315
01 Al Hl 720,000 780,000 60,000
Oszmel M8 AX 700,000,00021 1% 700,000 750,000 £50,000
Ostzoel A8 Ax Al
20,000,000 * 14} 20,000 30,000 £10,000
02 Zrell 20,000 30,000 £10,000
Ostzoel A8 Ax el
20,000,0008! * 14} 20,000 30,000 £10,000
03 Al& 2 CHHI 4,410 4,725 A315
Otz oel du AX ALY
700,000, 0002 0. 63% 4,410 4,725 A315
SHS4H +ABH 59,500 38,000 21,500
201 Yet2 | 5,500 1,000 4,500
01 At 2H 2l 5,500 1,000 4,500
O=%s Qs 28 B4 49
1,500, 0002 *3% 4,500 0 4,500
401 Al HI L 2T 17,000 0 17,000
01 Al&H 17,000 0 17,000
OEMHABSK ELAY(FIHE)
17,000,000 * 14} 17,000 0 17,000
SHSHLVRSPY N0l WA 173,480 168,480 5,000
< 117,936 117,936 0
2 55,544 50,544 5,000
101 Q121 b 169,980 168,480 1,500
< 117,936 117,936 0
2 52,044 50,544 1,500
04 JIAH22NSE 4 169,980 168,480 1,500
SHSALATZ0l 22y 169,980 168,480 1,500
< 117,936 117,936 0
2 52,044 50,544 1,500
201 YBt2 Ayl 2,700 0 2,700
01 At 2tel | 2,700 0 2,700
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